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Questions

Methyl alcohol is not used

Alcohol obtained by fermentation is only upto

Which compound will have the maximum repulsion with water

Which compound shows maximum hydrogen bonding with water

In t-butyl alcohol, the tertiary carbon is bonded

Which compound is called universal solvent

Answers Choice

A. As a solvent

B. As an anti freezing agent

C. As a substitute for petrol

D. For denaturing of ethyl alcohol

A 10%
B. 12%
C. 20%
D. 95%

A. C<sub>6</sub>H<sub>6</sub>

B. C<sub>2</sub>H<sub>5</sub>0OH
C. C<sub>3</sub>H<sub>7</sub>0OH
D.
CH<sub>3</sub>0OCH<sub>3</sub>

A. CH<sub>3</sub>0OH

B. C<sub>2</sub>H<sub>5</sub>0OH
C. CH<sub>3</sub>- O -
CH<sub>3</sub>

D. C<sub>6</sub>H<sub>5</sub>0H

A. Three hydrogen atoms
B. Two hydrogen atoms
C. One hydrogen atom
D. No hydrogen atom

A. CH<sub>3</sub>0OH

B. C<sub>2</sub>H<sub>5</sub>0OH
C. CH<sub>3</sub>0
CH<sub>3</sub>

D. H<sub>2</sub>0



